
Math 61-1 Midterm 1 version a
EUGENE LO

TOTAL POINTS

32 / 50

QUESTION 1

Multiple Choice 10 pts

1.1  2 / 2

✓ + 2 pts Correct (b)

   + 0 pts Incorrect

1.2  2 / 2

✓ + 2 pts Correct (b)

   + 0 pts Incorrect

   + 2 pts Correct (d)

1.3  0 / 2

   + 2 pts Correct (a)

✓ + 0 pts Incorrect

1.4  2 / 2

✓ + 2 pts Correct (a)

   + 0 pts Incorrect

   + 2 pts Correct (d)

1.5  0 / 2

   + 2 pts Correct (a)

✓ + 0 pts Incorrect

QUESTION 2

Short answer 10 pts

2.1  2 / 2

✓ - 0 pts Correct

2.2  0 / 2

✓ - 2 pts Incorrect

2.3  0 / 2

✓ - 2 pts Incorrect

2.4  0 / 2

✓ - 2 pts Incorrect

2.5  2 / 2

✓ + 2 pts Correct (5050)

   + 1 pts 1+2+...+100

   + 1 pts n(n+1)/2

   + 0 pts Incorrect

QUESTION 3

3 Fibonacci numbers 10 / 10

✓ - 0 pts Correct

QUESTION 4

Rationals 10 pts

4.1 Equivalence relation 7 / 8

✓ - 1 pts Transitivity proof error: how do you know

you didn't divide by 0?

Should be "xy = yx" for reflexivity

4.2 Equivalence classes 1.5 / 2

✓ - 0.5 pts Claimed |[(2,3)]| = 3

QUESTION 5

Pairs of subsets 10 pts

5.1 Example of the function 2 / 2

✓ - 0 pts Correct

5.2 Example of the subsets 1.5 / 2

✓ - 0.5 pts the empty set shouldn't have brackets

around it

5.3 It is a bijection 0 / 6

✓ - 3 pts issue in surjectivity



✓ - 3 pts issue in injectivity

You seem to be claiming that the range of F

consists of bijections. This is not true, and it is

not what you are trying to show.
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